What number is the arrow pointing to?
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Part | — Musk: This week we have been looldng of complehng number lines bﬂ finding the miss‘mg 40 41 42 43 44 45 46 47 50

numbers. Think back to the method we used in class. T will provide a small example to remind you. For

What could I add to
the number line to help
me?

task |, Please write Hwe miss'mg numbers in. For lask 2, count along Hwe number l'mes ko f'mc[ Hw missing

numbers. Are 0” Hw number lines going UP in OI'IGS? Double check before HOU skart counhng.

Complete the number ines.
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POFITZ - SI"LOU,H,I We've O,lSO been [ool(mg Oi

eslimo,hng numbers on a number line in Maths this
week For this aclivitﬁ, P[eo,se write the numbers in
the boxes. Remember, estimate means quess. Look
ak the numbers either side of the box to help you
with eshmohng the answer. I have altached an
example below to remind you of how we did this.
Next, comp[ele the chauenge on the next page.
Read the queshon and solve the Problem. I have
Provided you with o green box to expla'm your

answer.

Example:

o Drow arrows to estimate where the numbers
belong on the number line.
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Part 3 - _ I have been reo,ll\Lj impressed win Hw children's o
|0 limes table work in Maths over the last bwo wee|<s, so well done for thatl For I |
your arithmelic lest this wee|<, p[ease Prachce the doubles below. Please fi” in the 50 80

answers Qlf home and H’LCH leam H’LCSC readg for nexk wee|<. DO UOU nohce ang

PG“CI’TIS? I hOVG compleled Hw firSlf double fOI" leU, as an example. YOUJ' nexf

mental arithmelic test which will take Place next Tuesdag. Thank 5°U’! Good luck!

The arrows are
pointing to the
same number.

v1=2 | 242- 3+3-

Double | = @ | Double2 = | Double3=
by b= 5+5= 6+6-=

The arrows
are pointing to
different numbers because
they are pointing to

DUI.I.HB ‘ — — Duuble 5 — DDUHG 6 = —
71-7: 8+8: °|+°|:

Who do you agree with?

Double 7 = . Double 8 = - Double 9 = - Explain why.
0+ 10 = I+l = 12 + 12 =

— | Double 12 = ___

Double 10 = ___ | Double Il =




